

Swallow Construction

Corporation

H. Linden & Sons Sewer and

Water Inc.



| Local Public Agency: | Village of Romeoville | Date:          | 7/10/2024 |
|----------------------|-----------------------|----------------|-----------|
| County:              | Will                  | Time:          | 1:00 p.m. |
| Section:             |                       | Appropriation: |           |
| Estimate:            | \$6,829,374.00        |                |           |

Attended By: Drabicki, Joel

|                  |  |      |        |                  |                                |                            |                |                        |                | o ci poi alioni   |                |
|------------------|--|------|--------|------------------|--------------------------------|----------------------------|----------------|------------------------|----------------|-------------------|----------------|
|                  |  |      |        | Addı             | ress of Bidder:                | 170-A Alexandra Way        |                | 722 E. South St Unit D |                | 490 Topsoil Drive |                |
|                  |  |      |        |                  |                                | Carol Stream, IL           | _ 60188        | Plano, IL 60545        |                | West Chicago,     | L 60185        |
|                  |  |      |        | Approved<br>Esti | Engineer's<br>mate             |                            |                |                        |                |                   |                |
| Item No.         | Item Description   | Unit | QTY    | Unit Price       | Total                          | Unit Cost                  | Total          | Unit Cost              | Total          | Unit Cost         | Total          |
| R1002015         |  | FOOT | 9,530  | \$160.00         | \$1,524,800.00                 | \$171.00                   | \$1,629,630.00 | \$151.00               | \$1,439,030.00 | \$125.00          | \$1,191,250.00 |
| R1002020         | ENCASEMENT<br>TO DUCTILE IRON WATER MAIN<br>WITH POLYETHYLENE<br>ENCASEMENT<br>12" DUCTILE IRON WATER MAIN | FOOT | 20     | \$200.00         | \$4,000.00                     | \$180.00                   | \$3,600.00     | \$184.00               | \$3,680.00     | \$185.00          | \$3,700.00     |
| R1002025         | WITH POLYETHYLENE  | FOOT | 4,850  | \$250.00         | \$1,212,500.00                 | \$199.50                   | \$967,575.00   | \$196.00               | \$950,600.00   | \$200.00          | \$970,000.00   |
| XX008196         | ENCASEMENT<br>TRENCH BACKFILL,<br>WATERMAIN, SPECIAL   | FOOT | 14,220 | \$82.00          | \$1,166,040.00                 | \$0.01                     | \$142.20       | \$51.00                | \$725,220.00   | \$48.50           | \$689,670.00   |
| RX502041         | TRENCH BACKFILL - CLSM   | FOOT | 630    | \$50.00          | \$31,500.00                    | \$35.00                    | \$22,050.00    | \$167.00               | \$105,210.00   | \$375.00          | \$236,250.00   |
| XX007220         | PVC CASING PIPE 20"  | FOOT | 220    | \$150.00         | \$33,000.00                    | \$65.00                    | \$14,300.00    | \$200.00               | \$44,000.00    | \$120.25          | \$26,455.00    |
| RX502800         | PVC CASING PIPE, 24"   | FOOT | 220    | \$160.00         | \$35,200.00                    | \$75.00                    | \$16,500.00    | \$240.00               | \$52,800.00    | \$171.00          | \$37,620.00    |
| R1001019         | 8" VALVE IN VALVE BOX  | EACH | 2      | \$3,162.00       | \$6,324.00                     | \$4,000.00                 | \$8,000.00     | \$3,000.00             | \$6,000.00     | \$2,700.00        | \$5,400.00     |
| RX502450         | 12" VALVE IN VALVE BOX<br>8" VALVE AND VALVE VAULT,  | EACH | 3      | \$3,800.00       | \$11,400.00                    | \$5,500.00                 | \$16,500.00    | \$5,000.00             | \$15,000.00    | \$4,300.00        | \$12,900.00    |
| R1001016         | *  | EACH | 30     | \$5,650.00       | \$169,500.00                   | \$6,000.00                 | \$180,000.00   | \$6,000.00             | \$180,000.00   | \$8,000.00        | \$240,000.00   |
| RX502503         |  | EACH | 2      | \$6,500.00       | \$13,000.00                    | \$6,500.00                 | \$13,000.00    | \$6,800.00             | \$13,600.00    | \$8,500.00        | \$17,000.00    |
| R1001025         |  | EACH | 12     | \$7,500.00       | \$90,000.00                    | \$6,900.00                 | \$82,800.00    | \$8,000.00             | \$96,000.00    | \$10,000.00       | \$120,000.00   |
| R1003005         | FIRE HYDRANT WITH AUXILIARY VALVE, VALVE BOX AND TEE   | EACH | 34     | \$9,525.00       | \$323,850.00                   | \$18,000.00                | \$612,000.00   | \$8,000.00             | \$272,000.00   | \$10,000.00       | \$340,000.00   |
| R1004002         | 3/4" WATER SERVICE (SHORT)   | EACH | 128    | \$1,500.00       | \$192,000.00                   | \$3,000.00                 | \$384,000.00   | \$3,000.00             | \$384,000.00   | \$3,500.00        | \$448,000.00   |
| R1004033         | 3/4" WATER SERVICE, AUGUERED (LONG)  | EACH | 154    | \$2,900.00       | \$446,600.00                   | \$3,500.00                 | \$539,000.00   | \$4,000.00             | \$616,000.00   | \$6,750.00        | \$1,039,500.00 |
| R1004035<br>Prin | 1" WATER SERVICE, AUGERED<br>(LONG)<br>nted 7/10/2024 3:03:49 PM 1 of 1                                    | EACH | 43     | \$3,500.00       | \$150,500.00<br>BLR 12315 (Rev | \$19,000.00<br>. 07/16/13) | \$817,000.00   | \$4,000.00             | \$172,000.00   | \$6,800.00        | \$292,400.00   |

Name of Bidder: J. Congdon Sewer Service Inc.



|               | R       | 0  | b    | Ĭ    | 7  | S   | 0     | n    |
|---------------|---------|----|------|------|----|-----|-------|------|
|               | EN      | G  | I N  | Е    | E  | R   | / N   | G    |
| Municipal Exp | ertise. | Co | mmui | nity | Co | non | nitma | ent. |

| Local Public Agency: | Village of Romeoville | Date:          | 7/10/2024 |
|----------------------|-----------------------|----------------|-----------|
| County:              | Will                  | Time:          | 1:00 p.m. |
| Section:             |                       | Appropriation: |           |
| Estimate:            | \$6,829,374.00        |                |           |

|          |   |      |     | Na          | me of Bidder:  | J. Congdon Se    | wer Service Inc. | H. Linden & So<br>Water Inc. | ons Sewer and | Swallow Const<br>Corporation | ruction     |
|----------|---|------|-----|-------------|----------------|------------------|------------------|------------------------------|---------------|------------------------------|-------------|
|          |   |      |     | Addr        | ess of Bidder: | 170-A Alexandra  | a Way            | 722 E. South St              | Unit D        | 490 Topsoil Driv             | re          |
|          |   |      |     |             |                | Carol Stream, II | _ 60188          | Plano, IL 60545              |               | West Chicago, I              | L 60185     |
|          |   |      |     | Approved E  | •              |                  |                  |                              |               |                              |             |
| Item No. | Item Description  | Unit | QTY | Unit Price  | Total          | Unit Cost        | Total            | Unit Cost                    | Total         | Unit Cost                    | Total       |
| R1002310 | REMOVE AND REPLACE 12" STORM SEWER WITH WATER MAIN QUALITY PIPE REMOVE AND REPLACE 15"                                | FOOT | 140 | \$120.00    | \$16,800.00    | \$75.00          | \$10,500.00      | \$180.00                     | \$25,200.00   | \$165.00                     | \$23,100.00 |
| R1002315 |   | FOOT | 51  | \$150.00    | \$7,650.00     | \$85.00          | \$4,335.00       | \$190.00                     | \$9,690.00    | \$250.00                     | \$12,750.00 |
| R1002320 |   | FOOT | 20  | \$175.00    | \$3,500.00     | \$95.00          | \$1,900.00       | \$200.00                     | \$4,000.00    | \$300.00                     | \$6,000.00  |
| R1002330 | STORM SEWER WITH WATER<br>MAIN QUALITY PIPE<br>REMOVE AND REPLACE 36"   | FOOT | 25  | \$200.00    | \$5,000.00     | \$150.00         | \$3,750.00       | \$300.00                     | \$7,500.00    | \$325.00                     | \$8,125.00  |
| R1002345 |   | FOOT | 21  | \$300.00    | \$6,300.00     | \$225.00         | \$4,725.00       | \$600.00                     | \$12,600.00   | \$600.00                     | \$12,600.00 |
| RX502693 | SEWER, SPECIAL  | FOOT | 260 | ,           | \$11,700.00    | *                | \$2.60           | ·                            | \$13,260.00   | ,                            | \$13,000.00 |
| R1001490 |   | EACH | 5   | \$7,000.00  | \$35,000.00    | \$3,500.00       | \$17,500.00      | \$6,000.00                   | \$30,000.00   | \$4,300.00                   | \$21,500.00 |
| R1001495 | 10" LINE STOP<br>CONNECTION TO EXISTING   | EACH | 3   | \$8,000.00  | \$24,000.00    | \$4,200.00       | \$12,600.00      | \$9,000.00                   | \$27,000.00   | \$5,500.00                   | \$16,500.00 |
| XX003516 | WATER MAIN (NON-PRESSURE) -   | EACH | 8   | \$5,500.00  | \$44,000.00    | \$6,000.00       | \$48,000.00      | \$3,000.00                   | \$24,000.00   | \$5,100.00                   | \$40,800.00 |
| RX502801 | CONNECTION TO EXISTING WATER MAIN (NON-PRESSURE) - 10"  | EACH | 1   | \$6,000.00  | \$6,000.00     | \$7,000.00       | \$7,000.00       | \$4,000.00                   | \$4,000.00    | \$5,500.00                   | \$5,500.00  |
| R1001100 | 10" 8" X 8" I APPING SLEEVE AND VALVE IN VALVE VAULT, TYPE A, 5' DIAMETER, TYPE 1 FRAME, CLOSED LID                   | EACH | 5   | \$10,000.00 | \$50,000.00    | \$7,000.00       | \$35,000.00      | \$10,000.00                  | \$50,000.00   | \$10,250.00                  | \$51,250.00 |
| R1001120 | CLOSED LID<br>TO X TO TAPPING SLEEVE AND<br>VALVE IN VALVE VAULT, TYPE A,<br>5' DIAMETER, TYPE 1 FRAME,<br>CLOSED LID | EACH | 3   | \$12,000.00 | \$36,000.00    | \$8,000.00       | \$24,000.00      | \$11,000.00                  | \$33,000.00   | \$12,250.00                  | \$36,750.00 |





| Local Public Agency: | Village of Romeoville | Date:          | 7/10/2024 |
|----------------------|-----------------------|----------------|-----------|
| County:              | Will                  | Time:          | 1:00 p.m. |
| Section:             |                       | Appropriation: |           |
| Estimate:            | \$6,829,374.00        |                |           |

|                   | ended By: Drabicki, Joel  |       |        | Na                  | me of Bidder:                 | J. Congdon Se          | wer Service Inc. | H. Linden & So<br>Water Inc. | ns Sewer and | Swallow Const    | ruction      |
|-------------------|---|-------|--------|---------------------|-------------------------------|------------------------|------------------|------------------------------|--------------|------------------|--------------|
|                   |   |       |        | Addr                | ess of Bidder:                | 170-A Alexandr         | a Way            | 722 E. South St              | Unit D       | 490 Topsoil Driv | е            |
|                   |   |       |        |                     |                               | Carol Stream, II       | _ 60188          | Plano, IL 60545              |              | West Chicago, I  | L 60185      |
|                   |   |       |        | Approved E<br>Estin | _                             |                        |                  |                              |              |                  |              |
| Item No.          | Item Description  | Unit  | QTY    | Unit Price          | Total                         | Unit Cost              | Total            | Unit Cost                    | Total        | Unit Cost        | Total        |
| R1001145          | VALVE IN VALVE VAULT, TYPE A,<br>5' DIAMETER, TYPE 1 FRAME,<br>CLOSED LID | EACH  | 2      | \$18,000.00         | \$36,000.00                   | \$9,000.00             | \$18,000.00      | \$12,000.00                  | \$24,000.00  | \$13,500.00      | \$27,000.00  |
| R1002225          |   | EACH  | 3      | \$1,975.00          | \$5,925.00                    | \$5,000.00             | \$15,000.00      | \$3,000.00                   | \$9,000.00   | \$700.00         | \$2,100.00   |
| R1002230          | 8" CUT AND CAP  | EACH  | 6      | \$3,000.00          | \$18,000.00                   | \$6,000.00             | \$36,000.00      | \$3,000.00                   | \$18,000.00  | \$900.00         | \$5,400.00   |
| R1002235          | 10" CUT AND CAP   | EACH  | 4      | \$3,500.00          | \$14,000.00                   | \$7,000.00             | \$28,000.00      | \$4,000.00                   | \$16,000.00  | \$1,500.00       | \$6,000.00   |
| R1002240          |   | EACH  | 2      | \$3,700.00          | \$7,400.00                    | \$8,000.00             | \$16,000.00      | \$5,000.00                   | \$10,000.00  | \$2,000.00       | \$4,000.00   |
| 56400500          | FIRE HYDRANTS TO BE<br>REMOVED  | EACH  | 33     | \$935.00            | \$30,855.00                   | \$250.00               | \$8,250.00       | \$500.00                     | \$16,500.00  | \$125.00         | \$4,125.00   |
| R1001475          | REMOVE AND ABANDON VALVE<br>BOX   | EACH  | 17     | \$290.00            | \$4,930.00                    | \$50.00                | \$850.00         | \$50.00                      | \$850.00     | \$125.00         | \$2,125.00   |
| X1200015          | VALVE VAULTS TO BE<br>ABANDONED   | EACH  | 10     | \$865.00            | \$8,650.00                    | \$200.00               | \$2,000.00       | \$300.00                     | \$3,000.00   | \$230.00         | \$2,300.00   |
| 44201723          | CLASS D PATCHES, TYPE IV, 6 INCH  | SQ YD | 7,500  | \$78.00             | \$585,000.00                  | \$42.25                | \$316,875.00     | \$61.00                      | \$457,500.00 | \$52.00          | \$390,000.00 |
| 44000200          | DRIVEWAY PAVEMENT<br>REMOVAL  | SQ YD | 270    | \$24.00             | \$6,480.00                    | \$22.50                | \$6,075.00       | \$10.00                      | \$2,700.00   | \$3.00           | \$810.00     |
| 42300200          | PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH                        | SQ YD | 270    | \$100.00            | \$27,000.00                   | \$85.00                | \$22,950.00      | \$125.00                     | \$33,750.00  | \$113.50         | \$30,645.00  |
| 44000600          | SIDEWALK REMOVAL  | SQ FT | 17,220 | \$2.50              | \$43,050.00                   | \$2.00                 | \$34,440.00      | \$3.00                       | \$51,660.00  | \$0.50           | \$8,610.00   |
| 42400200          | PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH                                  | SQ FT | 14,190 | \$9.50              | \$134,805.00                  | \$9.20                 | \$130,548.00     | \$11.00                      | \$156,090.00 | \$12.00          | \$170,280.00 |
| 42400300          | SIDEWALK 5 INCH<br>PORTLAND CEMENT CONCRETE<br>SIDEWALK 6 INCH            | SQ FT | 3,080  | \$10.50             | \$32,340.00                   | \$10.00                | \$30,800.00      | \$12.00                      | \$36,960.00  | \$11.00          | \$33,880.00  |
| Z0004510          | HOT-MIX ASPHALT DRIVEWAY  | SQ YD | 20     | \$60.00             | \$1,200.00                    | \$76.50                | \$1,530.00       | \$54.00                      | \$1,080.00   | \$245.00         | \$4,900.00   |
| X4240800          | PAVEMENT, 3"<br>DETECTABLE WARNINGS<br>(SPECIAL)                          | SQ FT | 100    | \$29.00             | \$2,900.00                    | \$32.00                | \$3,200.00       | \$42.00                      | \$4,200.00   | \$22.00          | \$2,200.00   |
| 44000500          | COMBINATION CURB AND<br>GUTTER REMOVAL                                    | FOOT  | 960    | \$12.00             | \$11,520.00                   | \$10.00                | \$9,600.00       | \$10.00                      | \$9,600.00   | \$4.75           | \$4,560.00   |
| R6005005<br>Print | COMBINATION CURB AND<br>teg サブゴグアの2年号は35年34年WT1 of 1                      | FOOT  | 960    | \$45.00             | \$43,200.00<br>BLR 12315 (Rev | \$44.25<br>. 07/16/13) | \$42,480.00      | \$55.00                      | \$52,800.00  | \$37.00          | \$35,520.00  |



## **Tabulation of Bids 22-R0720 Alternate**

**Swallow Construction** 

Corporation

490 Topsoil Drive

H. Linden & Sons Sewer and

722 E. South St.. Unit D

Water Inc.

| Local Public Agency: | Village of Romeoville | Date:          | 7/10/2024 |
|----------------------|-----------------------|----------------|-----------|
| County:              | Will                  | Time:          | 1:00 p.m. |
| Section:             |                       | Appropriation: |           |
| Estimate:            | \$6,829,374,00        |                |           |

Attended By: Drabicki, Joel

|           |   |       |       |                |                    | Carol Stream, IL 60188 |                | Plano, IL 60545 |                | West Chicago, | IL 60185       |
|-----------|---|-------|-------|----------------|--------------------|------------------------|----------------|-----------------|----------------|---------------|----------------|
|           |   |       |       | Approved Estin | Engineer's<br>nate |                        |                |                 |                |               |                |
| Item No.  | Item Description                            | Unit  | QTY   | Unit Price     | Total              | Unit Cost              | Total          | Unit Cost       | Total          | Unit Cost     | Total          |
| 35101600  | AGGREGATE BASE COURSE,<br>TYPE B 4"         | SQ YD | 1,830 | \$12.00        | \$21,960.00        | \$10.00                | \$18,300.00    | \$10.00         | \$18,300.00    | \$18.00       | \$32,940.00    |
| R5001012  | EXPLORATORY EXCAVATION                      | EACH  | 20    | \$650.00       | \$13,000.00        | \$550.00               | \$11,000.00    | \$450.00        | \$9,000.00     | \$550.00      | \$11,000.00    |
| 21101615  | TOPSOIL FURNISH AND PLACE,<br>4"            | SQ YD | 1,840 | \$5.00         | \$9,200.00         | \$6.00                 | \$11,040.00    | \$6.00          | \$11,040.00    | \$11.25       | \$20,700.00    |
| R5001013  | SEEDING, SPECIAL                            | SQ YD | 1,840 | \$2.75         | \$5,060.00         | \$3.00                 | \$5,520.00     | \$2.00          | \$3,680.00     | \$2.00        | \$3,680.00     |
| 25100630  | EROSION CONTROL BLANKET                     | SQ YD | 1,840 | \$6.25         | \$11,500.00        | \$4.00                 | \$7,360.00     | \$4.00          | \$7,360.00     | \$2.00        | \$3,680.00     |
| 205-06933 | TEMPORARY INLET PROTECTION                  | EACH  | 28    | \$126.25       | \$3,535.00         | \$50.00                | \$1,400.00     | \$180.00        | \$5,040.00     | \$200.00      | \$5,600.00     |
| 20100210  | TRÉE RÉMÓVAL (OVER 15 UNITS<br>DIAMETER)    | UNIT  | 102   | \$50.00        | \$5,100.00         | \$30.00                | \$3,060.00     | \$35.00         | \$3,570.00     | \$38.00       | \$3,876.00     |
| XX009185  | CONCRETE TRUCK WASHOUT                      | EACH  | 2     | \$1,325.00     | \$2,650.00         | \$1,600.00             | \$3,200.00     | \$600.00        | \$1,200.00     | \$525.00      | \$1,050.00     |
| X5610651  | ABANDON EXISTING WATER MAIN, FILL WITH CLSM | FOOT  | 550   | \$25.00        | \$13,750.00        | \$20.00                | \$11,000.00    | \$15.00         | \$8,250.00     | \$62.00       | \$34,100.00    |
| 20200200  | ROCK EXCAVATION                             | CU YD | 530   | \$140.00       | \$74,200.00        | \$50.00                | \$26,500.00    | \$150.00        | \$79,500.00    | \$135.00      | \$71,550.00    |
|           |   |       |       | TOTAL:         | \$6,829,374.00     |                        | \$6,296,387.80 |                 | \$6,366,020.00 |               | \$6,840,651.00 |

Name of Bidder: J. Congdon Sewer Service Inc.

Address of Bidder: 170-A Alexandra Way



 Local Public Agency:
 Village of Romeoville
 Date:
 7/10/2024

 County:
 Will
 Time:
 1:00 p.m.

 Section:
 Appropriation:

Estimate: \$6,829,374.00

Attended By: Drabicki, Joel

|          |  |      |        |            |                    | Joliet, IL 60433 |                | Elwood, IL 6042   | 21             | Plano, IL 60545 |                |
|----------|--|------|--------|------------|--------------------|------------------|----------------|-------------------|----------------|-----------------|----------------|
|          |  |      |        |            | Engineer's<br>mate |                  |                |                   |                |                 |                |
| Item No. | Item Description                                       | Unit | QTY    | Unit Price | Total              | Unit Cost        | Total          | Unit Cost         | Total          | Unit Cost       | Total          |
|          | 8" DUCTILE IRON WATER MAIN                             |      |        |            |                    |                  |                |                   |                |                 |                |
| R1002015 | WITH POLYETHYLENE                                      | FOOT | 9,530  | \$160.00   | \$1,524,800.00     | \$141.00         | \$1,343,730.00 | \$160.00          | \$1,524,800.00 | \$200.00        | \$1,906,000.00 |
|          | ENCASEMENT<br>10' DUCTILE IRON WATER MAIN              |      |        |            |                    |                  |                |                   |                |                 |                |
| R1002020 | WITH POLYETHYLENE                                      | FOOT | 20     | \$200.00   | \$4,000.00         | \$330.00         | \$6,600.00     | \$350.00          | \$7,000.00     | \$360.00        | \$7,200.00     |
|          | ENCASEMENT<br>12" DUCTILE IRON WATER MAIN              |      |        |            |                    |                  |                |                   |                |                 |                |
| R1002025 | WITH POLYETHYLENE                                      | FOOT | 4,850  | \$250.00   | \$1,212,500.00     | \$206.00         | \$999,100.00   | \$230.00          | \$1,115,500.00 | \$233.00        | \$1,130,050.00 |
|          | ENCASEMENT<br>TRENCH BACKFILL,                         |      |        |            |                    |                  |                |                   |                |                 |                |
| XX008196 | WATERMAIN. SPECIAL                                     | FOOT | 14,220 | \$82.00    | \$1,166,040.00     | \$63.00          | \$895,860.00   | \$50.00           | \$711,000.00   | \$30.00         | \$426,600.00   |
| RX502041 | TRENCH BACKFILL - CLSM                                 | FOOT | 630    | \$50.00    | \$31,500.00        | \$623.00         | \$392,490.00   | \$320.00          | \$201,600.00   | \$290.00        | \$182,700.00   |
| XX007220 | PVC CASING PIPE 20"                                    | FOOT | 220    | \$150.00   | \$33,000.00        | \$214.00         | \$47,080.00    | \$340.00          | \$74,800.00    | \$130.00        | \$28,600.00    |
| RX502800 | PVC CASING PIPE, 24"                                   | FOOT | 220    | \$160.00   | \$35,200.00        | \$239.00         | \$52,580.00    | \$385.00          | \$84,700.00    | \$180.00        | \$39,600.00    |
| R1001019 | 8" VALVE IN VALVE BOX                                  | EACH | 2      | \$3,162.00 | \$6,324.00         | \$3,109.00       | \$6,218.00     | \$3,000.00        | \$6,000.00     | \$2,800.00      | \$5,600.00     |
| RX502450 | 12" VALVE IN VALVE BOX                                 | EACH | 3      | \$3,800.00 | \$11,400.00        | \$5,256.00       | \$15,768.00    | \$5,000.00        | \$15,000.00    | \$4,400.00      | \$13,200.00    |
|          | 8" VALVE AND VALVE VAULT,                              |      |        |            |                    |                  |                |                   |                |                 |                |
| R1001016 | TYPE A, 5' DIAMETER, TYPE 1                            | EACH | 30     | \$5,650.00 | \$169,500.00       | \$8,402.00       | \$252,060.00   | \$6,100.00        | \$183,000.00   | \$6,500.00      | \$195,000.00   |
|          | FRAME, CLOSED LID<br>10" VALVE AND VALVE VAULT,        |      |        |            |                    |                  |                |                   |                |                 |                |
| RX502503 | TYPE A, 5' DIAMETER, TYPE 1                            | EACH | 2      | \$6,500.00 | \$13,000.00        | \$9,783.00       | \$19,566.00    | \$7,500.00        | \$15,000.00    | \$8,200.00      | \$16,400.00    |
|          | FRAME. CLOSED LID<br>12" VALVE AND VALVE VAULT,        |      |        |            |                    |                  |                |                   |                |                 |                |
| R1001025 | TYPE A, 5' DIAMETER, TYPE 1                            | EACH | 12     | \$7,500.00 | \$90,000.00        | \$10,699.00      | \$128,388.00   | \$8,250.00        | \$99,000.00    | \$8,750.00      | \$105,000.00   |
|          | FRAME, CLOSED LID                                      |      |        |            |                    |                  |                |                   |                |                 |                |
| R1003005 | FIRE HYDRANT WITH AUXILIARY VALVE, VALVE BOX AND TEE   | EACH | 34     | \$9,525.00 | \$323,850.00       | \$10,584.00      | \$359,856.00   | \$10,400.00       | \$353,600.00   | \$8,900.00      | \$302,600.00   |
| R1004002 | 3/4" WATER SERVICE (SHORT)                             | EACH | 128    | ¢1 500 00  | \$192,000.00       | \$2,278.00       | \$201 E94 00   | <u></u> የኃ ላይበ ባባ | \$441 600 00   | ¢2 250 00       | \$428,800.00   |
|          | 3/4 WATER SERVICE (SHORT) 3/4" WATER SERVICE, AUGUERED |      |        | \$1,500.00 | , ,                | , ,              | \$291,584.00   | \$3,450.00        | \$441,600.00   | \$3,350.00      | , ,            |
| R1004033 | (LONG)   | EACH | 154    | \$2,900.00 | \$446,600.00       | \$5,345.00       | \$823,130.00   | \$3,900.00        | \$600,600.00   | \$5,400.00      | \$831,600.00   |
| R1004035 | 1" WATER SERVICE, AUGERED                              | EACH | 43     | \$3,500.00 |                    |                  | \$342,452.00   | \$13,200.00       | \$567,600.00   | \$15,750.00     | \$677,250.00   |
| Print    | ted 7/10/2024 3:03:49 PM 1 of 1                        | •    |        | '          | BLR 12315 (Rev     | . 07/16/13)      |                |                   |                |                 | l              |

Name of Bidder: Airy's Inc.

Address of Bidder: 21825 Cherry Hill Rd.

Performance Construction &

Engineering LLC

271 W. John Street

Austin Tyler Construction Inc.

23343 S. Ridge Road



| Local Public Agency: | Village of Romeoville | Date:          | 7/10/2024 |
|----------------------|-----------------------|----------------|-----------|
| County:              | Will                  | Time:          | 1:00 p.m. |
| Section:             |                       | Appropriation: |           |

Estimate: \$6,829,374.00

Attended By: Drabicki, Joel

|          | Ended by. Diableki, 30ei  |      |     | Na          | ame of Bidder: | Airy's Inc.      |             | Austin Tyler Co | onstruction Inc. | Performance C<br>Engineering Ll |             |
|----------|---|------|-----|-------------|----------------|------------------|-------------|-----------------|------------------|---------------------------------|-------------|
|          |   |      |     | Addr        | ess of Bidder: | 21825 Cherry H   | ill Rd.     | 23343 S. Ridge  | Road             | 271 W. John St                  | reet        |
|          |   |      |     |             |                | Joliet, IL 60433 |             | Elwood, IL 6042 | .1               | Plano, IL 60545                 |             |
|          |   |      |     | Approved E  | •              |                  |             |                 |                  |                                 |             |
| Item No. | Item Description  | Unit | QTY | Unit Price  | Total          | Unit Cost        | Total       | Unit Cost       | Total            | Unit Cost                       | Total       |
| R1002310 | REMOVE AND REPLACE 12" STORM SEWER WITH WATER MAIN QUALITY PIPE REMOVE AND REPLACE 15"    | FOOT | 140 | \$120.00    | \$16,800.00    | \$126.00         | \$17,640.00 | \$172.00        | \$24,080.00      | \$140.00                        | \$19,600.00 |
| R1002315 | STORM SEWER WITH WATER MAIN QUALITY PIPE REMOVE AND REPLACE 18"                           | FOOT | 51  | \$150.00    | \$7,650.00     | \$156.00         | \$7,956.00  | \$175.00        | \$8,925.00       | \$180.00                        | \$9,180.00  |
| R1002320 | STORM SEWER WITH WATER MAIN QUALITY PIPE REMOVE AND REPLACE 24"                           | FOOT | 20  | \$175.00    | \$3,500.00     | \$236.00         | \$4,720.00  | \$325.00        | \$6,500.00       | \$200.00                        | \$4,000.00  |
| R1002330 | STORM SEWER WITH WATER MAIN QUALITY PIPE REMOVE AND REPLACE 36"                           | FOOT | 25  | \$200.00    | \$5,000.00     | \$386.00         | \$9,650.00  | \$410.00        | \$10,250.00      | \$225.00                        | \$5,625.00  |
| R1002345 | STORM SEWER WITH WATER  | FOOT | 21  | \$300.00    | \$6,300.00     | \$1,071.00       | \$22,491.00 | \$585.00        | \$12,285.00      | \$250.00                        | \$5,250.00  |
| RX502693 | MAIN QUALITY PIPE<br>TRENCH BACKFILL, STORM<br>SEWER, SPECIAL                             | FOOT | 260 | \$45.00     | \$11,700.00    | \$33.00          | \$8,580.00  | \$50.00         | \$13,000.00      | \$22.00                         | \$5,720.00  |
| R1001490 | 8" LINE STOP  | EACH | 5   | \$7,000.00  | \$35,000.00    | \$14,694.00      | \$73,470.00 | \$11,500.00     | \$57,500.00      | \$12,000.00                     | \$60,000.00 |
| R1001495 | 10" LINE STOP<br>CONNECTION TO EXISTING   | EACH | 3   | \$8,000.00  | \$24,000.00    | \$19,724.00      | \$59,172.00 | \$13,000.00     | \$39,000.00      | \$15,000.00                     | \$45,000.00 |
| XX003516 | WATER MAIN (NON-PRESSURE) -<br>8"<br>CONNECTION TO EXISTING                               | EACH | 8   | \$5,500.00  | \$44,000.00    | \$5,515.00       | \$44,120.00 | \$6,000.00      | \$48,000.00      | \$4,500.00                      | \$36,000.00 |
| RX502801 | WATER MAIN (NON-PRESSURE) -<br>10"<br>8" X 8" I APPING SLEEVE AND                         | EACH | 1   | \$6,000.00  | \$6,000.00     | \$5,011.00       | \$5,011.00  | \$7,500.00      | \$7,500.00       | \$8,500.00                      | \$8,500.00  |
| R1001100 | VALVE IN VALVE VAULT, TYPE A,<br>5' DIAMETER, TYPE 1 FRAME,<br>CLOS TO TAPPING SLEEVE AND | EACH | 5   | \$10,000.00 | \$50,000.00    | \$14,953.00      | \$74,765.00 | \$13,500.00     | \$67,500.00      | \$13,000.00                     | \$65,000.00 |
| R1001120 | VALVE IN VALVE VAULT, TYPE A,<br>5' DIAMETER, TYPE 1 FRAME,<br>CLOSED LID                 | EACH | 3   | \$12,000.00 | \$36,000.00    | \$17,787.00      | \$53,361.00 | \$16,000.00     | \$48,000.00      | \$15,000.00                     | \$45,000.00 |



Local Public Agency: Village of Romeoville Date: 7/10/2024

 County:
 Will
 Time: 1:00 p.m.

 Section:
 Appropriation:

Section: Appropriation: Estimate: \$6,829,374.00

Attended By: Drabicki, Joel

|                   |   |       |        | J           |                               |                      |              |                 |              |                 |              |   |  |
|-------------------|---|-------|--------|-------------|-------------------------------|----------------------|--------------|-----------------|--------------|-----------------|--------------|---|--|
|                   |   |       |        |             |                               | Joliet, IL 60433     |              | Elwood, IL 6042 | 21           | Plano, IL 60545 |              |   |  |
|                   |   |       |        |             |                               | Approved I<br>Estir  | Ü            | ,               |              | ,               |              | , |  |
| Item No.          | Item Description  | Unit  | QTY    | Unit Price  | Total                         | Unit Cost            | Total        | Unit Cost       | Total        | Unit Cost       | Total        |   |  |
| R1001145          | T2" X 12" TAPPING SLEEVE AND<br>VALVE IN VALVE VAULT, TYPE A,<br>5' DIAMETER, TYPE 1 FRAME, | EACH  | 2      | \$18,000.00 | \$36,000.00                   | \$19,165.00          | \$38,330.00  | \$17,000.00     | \$34,000.00  | \$16,000.00     | \$32,000.00  |   |  |
| R1002225          | CLOSED LID<br>6" CUT AND CAP  | EACH  | 3      | \$1,975.00  | \$5,925.00                    | \$4,361.00           | \$13,083.00  | \$3,800.00      | \$11,400.00  | \$1,500.00      | \$4,500.00   |   |  |
| R1002230          | 8" CUT AND CAP  | EACH  | 6      | \$3,000.00  | \$18,000.00                   | \$4,460.00           | \$26,760.00  | \$5,100.00      | \$30,600.00  | \$3,000.00      | \$18,000.00  |   |  |
| R1002235          | 10" CUT AND CAP   | EACH  | 4      | \$3,500.00  | \$14,000.00                   | \$4,582.00           | \$18,328.00  | \$5,300.00      | \$21,200.00  | \$4,000.00      | \$16,000.00  |   |  |
| R1002240          | 12" CUT AND CAP   | EACH  | 2      | \$3,700.00  | \$7,400.00                    | \$4,654.00           | \$9,308.00   | \$7,700.00      | \$15,400.00  | \$4,500.00      | \$9,000.00   |   |  |
| 56400500          | FIRE HYDRANTS TO BE<br>REMOVED  | EACH  | 33     | \$935.00    | \$30,855.00                   | \$1,012.00           | \$33,396.00  | \$1,100.00      | \$36,300.00  | \$900.00        | \$29,700.00  |   |  |
| R1001475          | REMOVE AND ABANDON VALVE  | EACH  | 17     | \$290.00    | \$4,930.00                    | \$312.00             | \$5,304.00   | \$650.00        | \$11,050.00  | \$300.00        | \$5,100.00   |   |  |
| X1200015          | VALVE VAULTS TO BE<br>ABANDONED   | EACH  | 10     | \$865.00    | \$8,650.00                    | \$630.00             | \$6,300.00   | \$900.00        | \$9,000.00   | \$1,250.00      | \$12,500.00  |   |  |
| 44201723          | CLASS D PATCHES, TYPE IV, 6 INCH  | SQ YD | 7,500  | \$78.00     | \$585,000.00                  | \$54.00              | \$405,000.00 | \$62.00         | \$465,000.00 | \$58.00         | \$435,000.00 |   |  |
| 44000200          | DRIVEWAY PAVEMENT<br>REMOVAL  | SQ YD | 270    | \$24.00     | \$6,480.00                    | \$24.00              | \$6,480.00   | \$35.00         | \$9,450.00   | \$12.00         | \$3,240.00   |   |  |
| 42300200          | PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH  | SQ YD | 270    | \$100.00    | \$27,000.00                   | \$93.00              | \$25,110.00  | \$114.00        | \$30,780.00  | \$100.00        | \$27,000.00  |   |  |
| 44000600          | SIDEWALK REMOVAL  | SQ FT | 17,220 | \$2.50      | \$43,050.00                   | \$2.00               | \$34,440.00  | \$3.00          | \$51,660.00  | \$3.00          | \$51,660.00  |   |  |
| 42400200          | PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH  | SQ FT | 14,190 | \$9.50      | \$134,805.00                  | \$14.00              | \$198,660.00 | \$12.50         | \$177,375.00 | \$11.00         | \$156,090.00 |   |  |
| 42400300          | PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH  | SQ FT | 3,080  | \$10.50     | \$32,340.00                   | \$15.00              | \$46,200.00  | \$15.00         | \$46,200.00  | \$15.00         | \$46,200.00  |   |  |
| Z0004510          | HOT-MIX ASPHALT DRIVEWAY PAVEMENT. 3"   | SQ YD | 20     | \$60.00     | \$1,200.00                    | \$134.00             | \$2,680.00   | \$75.00         | \$1,500.00   | \$95.00         | \$1,900.00   |   |  |
| X4240800          | DETECTABLE WARNINGS<br>(SPECIAL)  | SQ FT | 100    | \$29.00     | \$2,900.00                    | \$8.00               | \$800.00     | \$25.00         | \$2,500.00   | \$6.00          | \$600.00     |   |  |
| 44000500          | COMBINATION CURB AND<br>GUTTER REMOVAL  | FOOT  | 960    | \$12.00     | \$11,520.00                   | \$16.00              | \$15,360.00  | \$14.50         | \$13,920.00  | \$6.00          | \$5,760.00   |   |  |
| R6005005<br>Print | COMBINATION CURB AND<br>金炉灯顶短处层架的条件和I of 1  | FOOT  | 960    | \$45.00     | \$43,200.00<br>BLR 12315 (Rev | \$43.00<br>07/16/13) | \$41,280.00  | \$52.00         | \$49,920.00  | \$40.00         | \$38,400.00  |   |  |

Name of Bidder: Airy's Inc.

Address of Bidder: 21825 Cherry Hill Rd.

Performance Construction &

Engineering LLC

271 W. John Street

Austin Tyler Construction Inc.

23343 S. Ridge Road



Local Public Agency: Village of Romeoville Date: 7/10/2024 County: Will Time: 1:00 p.m. Appropriation:

| At        | Estimate: \$6,829,374.00 tended By: Drabicki, Joel |       |       |                   |                |                  |                |                 |                  |   |                |
|-----------|--|-------|-------|-------------------|----------------|------------------|----------------|-----------------|------------------|---|----------------|
|           | -  |       |       | Na                | ame of Bidder: | Airy's Inc.      |                | Austin Tyler Co | onstruction Inc. | Performance Construction &<br>Engineering LLC |                |
|           |  |       |       | Addı              | ess of Bidder: | 21825 Cherry H   | ill Rd.        | 23343 S. Ridge  | Road             | 271 W. John St                                | eet            |
|           |  |       |       |                   |                | Joliet, IL 60433 |                | Elwood, IL 6042 | 21               | Plano, IL 60545                               |                |
|           |  |       |       | Approved<br>Estir | •              |                  |                |                 |                  |   |                |
| Item No.  | Item Description                                   | Unit  | QTY   | Unit Price        | Total          | Unit Cost        | Total          | Unit Cost       | Total            | Unit Cost                                     | Total          |
| 35101600  | AGGREGATE BASE COURSE,<br>TYPE B 4"                | SQ YD | 1,830 | \$12.00           | \$21,960.00    | \$9.00           | \$16,470.00    | \$12.50         | \$22,875.00      | \$9.00  | \$16,470.00    |
| R5001012  | EXPLORATORY EXCAVATION                             | EACH  | 20    | \$650.00          | \$13,000.00    | \$349.00         | \$6,980.00     | \$1,250.00      | \$25,000.00      | \$300.00                                      | \$6,000.00     |
| 21101615  | TOPSOIL FURNISH AND PLACE,<br>4"                   | SQ YD | 1,840 | \$5.00            | \$9,200.00     | \$4.00           | \$7,360.00     | \$6.00          | \$11,040.00      | \$6.00  | \$11,040.00    |
| R5001013  | SEEDING, SPECIAL                                   | SQ YD | 1,840 | \$2.75            | \$5,060.00     | \$2.00           | \$3,680.00     | \$2.00          | \$3,680.00       | \$3.00  | \$5,520.00     |
| 25100630  | EROSION CONTROL BLANKET                            | SQ YD | 1,840 | \$6.25            | \$11,500.00    | \$13.00          | \$23,920.00    | \$24.00         | \$44,160.00      | \$4.00  | \$7,360.00     |
| 205-06933 | TEMPORARY INLET PROTECTION                         | EACH  | 28    | \$126.25          | \$3,535.00     | \$277.00         | \$7,756.00     | \$150.00        | \$4,200.00       | \$250.00                                      | \$7,000.00     |
| 20100210  | TREE REMOVAL (OVER 15 UNITS DIAMETER)              | UNIT  | 102   | \$50.00           | \$5,100.00     | \$52.00          | \$5,304.00     | \$37.00         | \$3,774.00       | \$36.00                                       | \$3,672.00     |
| XX009185  | CONCRETÉ TRUCK WASHOUT                             | EACH  | 2     | \$1,325.00        | \$2,650.00     | \$1,550.00       | \$3,100.00     | \$1,000.00      | \$2,000.00       | \$1,000.00                                    | \$2,000.00     |
| X5610651  | ABANDON EXISTING WATER MAIN, FILL WITH CLSM        | FOOT  | 550   | \$25.00           | \$13,750.00    | \$19.00          | \$10,450.00    | \$25.00         | \$13,750.00      | \$35.00                                       | \$19,250.00    |
| 20200200  | ROCK EXCAVATION                                    | CU YD | 530   | \$140.00          | \$74,200.00    | \$250.00         | \$132,500.00   | \$200.00        | \$106,000.00     | \$120.00                                      | \$63,600.00    |
|           |  |       |       | TOTAL:            | \$6,829,374.00 |                  | \$7,501,737.00 |                 | \$7,597,074.00   |   | \$7,639,637.00 |



Local Public Agency: Village of Romeoville Date: 7/10/2024 County: Will Time: 1:00 p.m. Section: Appropriation:

Attended By: Drabicki, Joel

Estimate: \$6,829,374.00

| Name of Bidder:                 | M & J Underground Inc.     | Steve Spiess Construction Inc. |  |  |  |
|---------------------------------|----------------------------|--------------------------------|--|--|--|
| Address of Bidder:              | 26603 S. Governors Highway | 10284 Vans Drive               |  |  |  |
|                                 |                            |                                |  |  |  |
|                                 | Monee, IL 60449            | Frankfort, IL 60423            |  |  |  |
| Approved Engineer's<br>Estimate |                            |                                |  |  |  |

## Unit QTY **Item Description Unit Price** Total **Unit Cost Unit Cost** Item No. **Total Total** 8" DUCTILE IRON WATER MAIN WITH POLYETHYLENE R1002015 FOOT 9,530 \$160.00 \$1,524,800.00 \$170.00 \$1,620,100.00 \$1,372,320.00 \$144.00 CASEMENT DUCTILE IRON WATER MAIN WITH POLYETHYLENE **FOOT** R1002020 20 \$200.00 \$4,000.00 \$235.00 \$4,700.00 \$541.00 \$10.820.00 ENCASEMENT 12" DUCTILE IRON WATER MAIN WITH POLYETHYLENE **FOOT** R1002025 4,850 \$250.00 \$1,212,500.00 \$255.00 \$1,236,750,00 \$241.00 \$1,168,850.00 ENCASEMENT TRENCH BACKFILL. **FOOT** \$82.00 \$1,166,040.00 XX008196 14,220 \$68.00 \$966.960.00 \$71.00 \$1,009,620.00 WATERMAIN, SPECIAL TRENCH BACKFILL - CLSM FOOT 630 \$31,500.00 RX502041 \$50.00 \$398.00 \$250,740.00 \$400.00 \$252,000,00 FOOT XX007220 PVC CASING PIPE 20" 220 \$150.00 \$33,000.00 \$289.00 \$63.580.00 \$240.00 \$52.800.00 RX502800 PVC CASING PIPE, 24" **FOOT** \$35,200.00 \$320.00 \$310.00 \$68,200.00 220 \$160.00 \$70,400.00 R1001019 8" VALVE IN VALVE BOX \$3,045.00 EACH \$3,162.00 \$6,324.00 \$6,090.00 \$3,930.00 \$7,860.00 RX502450 12" VALVE IN VALVE BOX EACH \$11,400.00 \$3,800.00 \$4,561.00 \$13,683.00 \$5,880.00 \$17,640.00 8" VALVE AND VALVE VAULT, TYPE A, 5' DIAMETER, TYPE 1 EACH 30 \$169,500.00 R1001016 \$5,650.00 \$11,212.00 \$336,360.00 \$8,850.00 \$265,500.00 FRAME, CLOSED LID 10" VALVE AND VALVE VAULT, RX502503 TYPE A, 5' DIAMETER, TYPE 1 EACH \$13,000.00 \$6,500.00 \$11,860.00 \$23,720.00 \$9,700.00 \$19,400.00 FRAME, CLOSED LID 12" VALVE AND VALVE VAULT. TYPE A. 5' DIAMETER, TYPE 1 EACH 12 \$90,000.00 R1001025 \$7,500.00 \$12,849.00 \$154,188.00 \$10,790.00 \$129,480.00 FRAME, CLOSED LID FIRE HYDRANT WITH AUXILIARY R1003005 EACH 34 \$9,525.00 \$323,850.00 \$10,022.00 \$340,748.00 \$10,910.00 \$370,940.00 VALVE, VALVE BOX AND TEE 3/4" WATER SERVICE (SHORT) EACH 128 \$192,000.00 R1004002 \$1,500.00 \$3,396.00 \$434,688.00 \$3,430.00 \$439,040.00 3/4" WATER SERVICE, AUGUERED EACH \$446,600.00 R1004033 154 \$2,900.00 \$5,754.00 \$886,116.00 \$5,450.00 \$839,300.00 (LONG) 1" WATER SERVICE, AUGERED **EACH** \$150,500.00 R1004035 \$3,500.00 \$17,672.00 \$759,896.00 \$22,900.00 \$984,700.00

Printed 7/10/2024 3:03:49 PM 1 of 1 BLR 12315 (Rev. 07/16/13)



| Local Public Agency: | Village of Romeoville | Date:          | 7/10/2024 |
|----------------------|-----------------------|----------------|-----------|
| County:              | Will                  | Time:          | 1:00 p.m. |
| Section:             |                       | Appropriation: |           |
| Estimate:            | \$6,829,374.00        |                |           |

|          |  |      |     | Na                   | Name of Bidder: M & J Underground Inc. Steve |                 |              |                   | teve Spiess Construction Inc. |  |
|----------|--|------|-----|----------------------|--|-----------------|--------------|-------------------|-------------------------------|--|
|          |  |      |     | Address of Bidder: 2 |  | 26603 S. Govern | nors Highway | 10284 Vans Drive  |                               |  |
|          |  |      |     |                      |  |                 |              |                   |                               |  |
|          |  |      |     |                      |  | Monee, IL 60449 | 9            | Frankfort, IL 604 | 23                            |  |
|          |  |      |     | Approved Estir       | _  |                 |              |                   |                               |  |
| Item No. | Item Description   | Unit | QTY | Unit Price           | Total  | Unit Cost       | Total        | Unit Cost         | Total                         |  |
| R1002310 | REMOVE AND REPLACE 12" STORM SEWER WITH WATER  | FOOT | 140 | \$120.00             | \$16,800.00                                  | \$230.00        | \$32,200.00  | \$131.00          | \$18,340.00                   |  |
| R1002315 | MAIN QUALITY PIPE<br>REMOVE AND REPEACE 15"<br>STORM SEWER WITH WATER<br>MAIN QUALITY PIPE<br>REMOVE AND REPEACE 18" | FOOT | 51  | \$150.00             | \$7,650.00                                   | \$306.00        | \$15,606.00  | \$226.00          | \$11,526.00                   |  |
| R1002320 | STORM SEWER WITH WATER   | FOOT | 20  | \$175.00             | \$3,500.00                                   | \$320.00        | \$6,400.00   | \$230.00          | \$4,600.00                    |  |
| R1002330 | MAIN QUALITY PIPE<br>REMOVE AND REPLACE 24"<br>STORM SEWER WITH WATER<br>MAIN QUALITY PIPE<br>REMOVE AND REPLACE 36" | FOOT | 25  | \$200.00             | \$5,000.00                                   | \$510.00        | \$12,750.00  | \$356.00          | \$8,900.00                    |  |
| R1002345 | STORM SEWER WITH WATER   | FOOT | 21  | \$300.00             | \$6,300.00                                   | \$885.00        | \$18,585.00  | \$725.00          | \$15,225.00                   |  |
| RX502693 | MAIN QUALITY PIPE<br>TRENCH BACKFILL, STORM<br>SEWER, SPECIAL  | FOOT | 260 | \$45.00              | \$11,700.00                                  | \$18.00         | \$4,680.00   | \$71.00           | \$18,460.00                   |  |
| R1001490 | 8" LINE STOP   | EACH | 5   | \$7,000.00           | \$35,000.00                                  | \$16,841.00     | \$84,205.00  | \$8,200.00        | \$41,000.00                   |  |
| R1001495 | 10" LINE STOP<br>CONNECTION TO EXISTING  | EACH | 3   | \$8,000.00           | \$24,000.00                                  | \$19,789.00     | \$59,367.00  | \$12,050.00       | \$36,150.00                   |  |
| XX003516 | WATER MAIN (NON-PRESSURE) -  | EACH | 8   | \$5,500.00           | \$44,000.00                                  | \$6,001.00      | \$48,008.00  | \$10,200.00       | \$81,600.00                   |  |
| RX502801 | CONNECTION TO EXISTING WATER MAIN (NON-PRESSURE) -   | EACH | 1   | \$6,000.00           | \$6,000.00                                   | \$6,139.00      | \$6,139.00   | \$10,400.00       | \$10,400.00                   |  |
| R1001100 | 10"<br>8"X 8" I APPING SLEEVE AND<br>VALVE IN VALVE VAULT, TYPE A,<br>5' DAME TER, TYPE 1 FRAME,                     | EACH | 5   | \$10,000.00          | \$50,000.00                                  | \$13,202.00     | \$66,010.00  | \$21,400.00       | \$107,000.00                  |  |
| R1001120 | CLOSED LID<br>VALVE IN VALVE VAULT, TYPE A,<br>5' DIAMETER, TYPE 1 FRAME,<br>CLOSED LID                              | EACH | 3   | \$12,000.00          | \$36,000.00                                  | \$27,805.00     | \$83,415.00  | \$24,200.00       | \$72,600.00                   |  |



Local Public Agency: Village of Romeoville Date: 7/10/2024

County: Will Time: 1:00 p.m.

Section: Appropriation: Estimate: \$6,829,374.00

| Name of Bidder:                 | M & J Underground Inc.     | Steve Spiess Construction Inc. |
|---------------------------------|----------------------------|--------------------------------|
| Address of Bidder:              | 26603 S. Governors Highway | 10284 Vans Drive               |
|                                 |                            |                                |
|                                 | Monee, IL 60449            | Frankfort, IL 60423            |
| Approved Engineer's<br>Estimate |                            |                                |

|                           |   |       |          | Estir                    | nate                     |             |              |             |              |
|---------------------------|---|-------|----------|--------------------------|--------------------------|-------------|--------------|-------------|--------------|
| Item No.                  | Item Description  | Unit  | QTY      | Unit Price               | Total                    | Unit Cost   | Total        | Unit Cost   | Total        |
| R1001145                  | VALVE IN VALVE VAULT, TYPE A,<br>5' DIAMETER, TYPE 1 FRAME,<br>CLOSED LID | EACH  | 2        | \$18,000.00              | \$36,000.00              | \$29,694.00 | \$59,388.00  | \$27,460.00 | \$54,920.00  |
| R1002225                  |   | EACH  | 3        | \$1,975.00               | \$5,925.00               | \$5,565.00  | \$16,695.00  | \$2,300.00  | \$6,900.00   |
| R1002230                  | 8" CUT AND CAP  | EACH  | 6        | \$3,000.00               | \$18,000.00              | \$5,688.00  | \$34,128.00  | \$2,450.00  | \$14,700.00  |
| R1002235                  | 10" CUT AND CAP   | EACH  | 4        | \$3,500.00               | \$14,000.00              | \$11,068.00 | \$44,272.00  | \$2,650.00  | \$10,600.00  |
| R1002240                  |   | EACH  | 2        | \$3,700.00               | \$7,400.00               | \$11,163.00 | \$22,326.00  | \$2,760.00  | \$5,520.00   |
| 56400500                  | FIRE HYDRANTS TO BE<br>REMOVED  | EACH  | 33       | \$935.00                 | \$30,855.00              | \$1,899.00  | \$62,667.00  | \$1,220.00  | \$40,260.00  |
| R1001475                  | REMOVE AND ABANDON VALVE<br>BOX   | EACH  | 17       | \$290.00                 | \$4,930.00               | \$403.00    | \$6,851.00   | \$320.00    | \$5,440.00   |
| X1200015                  | VALVE VAULTS TO BE<br>ABANDONED   | EACH  | 10       | \$865.00                 | \$8,650.00               | \$2,388.00  | \$23,880.00  | \$1,150.00  | \$11,500.00  |
| 44201723                  | CLASS D PATCHES, TYPE IV, 6 INCH  | SQ YD | 7,500    | \$78.00                  | \$585,000.00             | \$51.00     | \$382,500.00 | \$111.00    | \$832,500.00 |
| 44000200                  | DRIVEWAY PAVEMENT<br>REMOVAL  | SQ YD | 270      | \$24.00                  | \$6,480.00               | \$23.00     | \$6,210.00   | \$34.00     | \$9,180.00   |
| 42300200                  | PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 6 INCH                        | SQ YD | 270      | \$100.00                 | \$27,000.00              | \$92.00     | \$24,840.00  | \$164.00    | \$44,280.00  |
| 44000600                  |   | SQ FT | 17,220   | \$2.50                   | \$43,050.00              | \$3.00      | \$51,660.00  | \$3.00      | \$51,660.00  |
| 42400200                  | PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH                                  | SQ FT | 14,190   | \$9.50                   | \$134,805.00             | \$9.00      | \$127,710.00 | \$15.00     | \$212,850.00 |
| 42400300                  | PORTLAND CEMENT CONCRETE SIDEWALK 6 INCH                                  | SQ FT | 3,080    | \$10.50                  | \$32,340.00              | \$11.00     | \$33,880.00  | \$16.00     | \$49,280.00  |
| Z0004510                  | HOT-MIX ASPHALT DRIVEWAY  | SQ YD | 20       | \$60.00                  | \$1,200.00               | \$102.00    | \$2,040.00   | \$101.00    | \$2,020.00   |
| X4240800                  | DETECTABLE WARNINGS<br>(SPECIAL)  | SQ FT | 100      | \$29.00                  | \$2,900.00               | \$4.00      | \$400.00     | \$26.00     | \$2,600.00   |
| 44000500                  | COMBINATION CLIRE AND   | FOOT  | 960      | \$12.00                  | \$11,520.00              | \$13.00     | \$12,480.00  | \$18.00     | \$17,280.00  |
| R6005005<br>7/10/2024 3:0 | COMBINIATION CLIPS AND  | FOOT  | 960<br>B | \$45.00<br>R 12315 (Rev. | \$43,200.00<br>07/16/13) | \$37.00     | \$35,520.00  | \$81.00     | \$77,760.00  |



| Local Public Agency: | Village of Romeoville | Date:          | 7/10/2024 |
|----------------------|-----------------------|----------------|-----------|
| County:              | Will                  | Time:          | 1:00 p.m. |
| Section:             |                       | Appropriation: |           |
| Estimate:            | \$6,829,374.00        |                |           |

| Att       | ended By: Drabicki, Joel                    |       |       |                                     |                    |                |                               |                   |                |  |
|-----------|---|-------|-------|-------------------------------------|--------------------|----------------|-------------------------------|-------------------|----------------|--|
|           |   |       |       | Name of Bidder: M & J Underground I |                    | ound Inc.      | Steve Spiess Construction Inc |                   |                |  |
|           |   |       |       | Add                                 | ress of Bidder:    | 26603 S. Gover | rnors Highway                 | 10284 Vans Drive  |                |  |
|           |   |       |       | 1                                   |                    | Monee, IL 6044 | 9                             | Frankfort, IL 604 | 123            |  |
|           |   |       |       |                                     | Engineer's<br>mate |                |                               |                   |                |  |
| Item No.  | Item Description                            | Unit  | QTY   | Unit Price                          | Total              | Unit Cost      | Total                         | Unit Cost         | Total          |  |
| 35101600  | AGGREGATE BASE COURSE,<br>TYPE B 4"         | SQ YD | 1,830 | \$12.00                             | \$21,960.00        | \$4.00         | \$7,320.00                    | \$14.00           | \$25,620.00    |  |
| R5001012  | EXPLORATORY EXCAVATION                      | EACH  | 20    | \$650.00                            | \$13,000.00        | \$795.00       | \$15,900.00                   | \$780.00          | \$15,600.00    |  |
| 21101615  | TOPSOIL FURNISH AND PLACE,<br>4"            | SQ YD | 1,840 | \$5.00                              | \$9,200.00         | \$3.00         | \$5,520.00                    | \$9.00            | \$16,560.00    |  |
| R5001013  | SEEDING, SPECIAL                            | SQ YD | 1,840 | \$2.75                              | \$5,060.00         | \$1.00         | \$1,840.00                    | \$5.00            | \$9,200.00     |  |
| 25100630  | EROSION CONTROL BLANKET                     | SQ YD | 1,840 | \$6.25                              | \$11,500.00        | \$13.00        | \$23,920.00                   | \$24.00           | \$44,160.00    |  |
| 205-06933 | TEMPORARY INLET PROTECTION                  | EACH  | 28    | \$126.25                            | \$3,535.00         | \$266.00       | \$7,448.00                    | \$300.00          | \$8,400.00     |  |
| 20100210  | TREE REMOVAL (OVER 15 UNITS DIAMETER)       | UNIT  | 102   | \$50.00                             | \$5,100.00         | \$50.00        | \$5,100.00                    | \$44.00           | \$4,488.00     |  |
| XX009185  | CONCRETÉ TRUCK WASHOUT                      | EACH  | 2     | \$1,325.00                          | \$2,650.00         | \$532.00       | \$1,064.00                    | \$1,500.00        | \$3,000.00     |  |
| X5610651  | ABANDON EXISTING WATER MAIN, FILL WITH CLSM | FOOT  | 550   | \$25.00                             | \$13,750.00        | \$29.00        | \$15,950.00                   | \$65.00           | \$35,750.00    |  |
| 20200200  | ROCK EXCAVATION                             | CU YD | 530   | \$140.00                            | \$74,200.00        | \$190.00       | \$100,700.00                  | \$100.00          | \$53,000.00    |  |
|           |   |       |       | TOTAL:                              | \$6,829,374.00     |                | \$8,738,293.00                |                   | \$9,099,299.00 |  |